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TAKE THE KEG QUIZ

Grab a pint and toast the mighty Keg.

It’s the sustainable, reusable way to pair you and great beer!

QUESTION 1: Kegs reduce CO2 emissions each
and every year, equivalent to:

The energy to power 50,000 homes
Burning nearly half a billion pounds of coal
Fully charging nearly 50 billion cell phones
All of the above

QUESTION 2: Compared to single-use
containers, reusable steel kegs remove the
equivalent greenhouse emissions to how many
miles of gas-powered vehicles every year?

Nearly 1 million miles
Nearly 265 million miles
Nearly 1 billion miles

QUESTION 3: Reusable steel kegs remove, on
average, how many single-user containers from
the waste stream every year?

6 million
60 million
600 million
6 billion




